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1. =82g . 29g

(i) 1611g (ii) 1011g (iii) 1810g (iv) 1618g (v) 1018g

2. =52e . 37e . 95e

(i) 13570e (ii) 1770e (iii) 13514e (iv) 1714e (v) 7017e

3. =86j . 68j . 54j . 97j

(i) 1921j (ii) 43221j (iii) 432336j (iv) 33619j (v) 281344j

4. =	−	 85v .	−	 96v

(i) − 7211v (ii) − 1711v (iii) 3017v (iv) 1730v (v) 7230v

5. =	−	 25v .	−	 (-4)6v .	−	 (-2)3v

(i) − 1614v (ii) − 1690v (iii) − (-4)14v (iv) − (-90)4v (v) 	−	 (-4)90v

6. =	−	 (-7)7x .	−	 62x .	−	 (-9)8x .	−	 (-5)9x

(i) − 21018x (ii) (-15)1008x (iii) − (-126)10x (iv) − (-10)18x (v) − 210126x

7. Find	the	square	root	of =q2	 r
4
	 s
2
	

(i)
1

q2	 r
4
	 s
2
	

(ii) qr2	 s (iii) qrs8 (iv)
2

(q2	 r
4
	 s
2
	 ) (v) qrs16

8. =c8d87 .	−	 c4 d(-8)3

(i) − c1221 (ii) − c8 d821 (iii) c12 d1621 (iv) c124 (v) c1210

9. =
4

(x3	 )

(i) x (ii) x3 (iii) x7 (iv) x34 (v) x12

10. =
h14

h7

(i) h21 (ii) h98 (iii) h714 (iv) h7 (v) h77



11. =
7

(v2	 w
4
	 )

(i) v9w11 (ii) v14w28 (iii) v2w47 (iv) v9w117 (v) v14w287

12. =(−5v2	 w
5
	 )
3

(i) − v6w15125 (ii) − v5w8125 (iii) − v6w155 (iv) − v6w1515 (v) − v5w815

13.

5

=(
19k
6k
)

(i) 135k (ii) 570k (iii) 125k (iv) 65k (v) 255k

14.

5

=(
x6 y4

z6
)

(i) (
x11 y9

z30
) (ii) (

x30 y20

z11
) (iii) (

x11 y9

z11
) (iv) (

x6 y45

z65
) (v) (

x30 y20

z30
)

15. =
u16 v13

u8 v8

(i) u29 v16 (ii) u8 v21 (iii) u8 v5 (iv) u24 v21 (v) u24 v5

16. =
7c
17c

(i) 10c (ii)
1
119c (iii)

1
24c (iv)

1
10c (v)

1
(-10)c

17. =
(f+9)

(e3	 )

(i) e(3f−27) (ii) e(f+15) (iii) e(3f+12) (iv) e(3f+27) (v) e(f+30)

18.

o

=(
i 6

j 4
)

(i)
j 4o

i 6o
(ii)

i 6o

j 4o
(iii) i 6o. j 4o (iv) i 6o.	−	 j 4o

19. =(
q7t

q(t+6)
)

(i) q(10t
2
	 −19t−42) (ii) q(6t−6) (iii) q(8t+6) (iv) q(6t−5) (v) q(2t+6)



20.

7

=(
q7

q4
)

(i) q 11 (ii) q 217 (iii) q 21 (iv) q 4 (v) q 7

21.
6
=( c 22c)

(i) c 22c (ii) c(22c+6) (iii) c 132c6 (iv) c 132c

22.
3
=( e4. f3)

(i) e.1 (ii) e12. f9 (iii) e7. f6 (iv) e12. f6 (v) e8. f9

23.
-6
=( (-6)

( f2	 ) )
(i) f (-18) (ii) f (-6) (iii) f14 (iv) f (-10) (v) f72

24.
-1
=( i3 . j (-4)4 )

(i)
	−	 j43

	−	 i (-1)4
(ii)

i4

j (-1)12
(iii)

j43

i (-1)4
(iv) j4

i12
(v) j4. i (-1)12

25. =(q−r)(-5). (q−r)(-6)

(i) (q−r)(-5) (ii) (q−r) (iii) (q−r)(-11) (iv) (q−r)30 (v) (q−r)(-6)

26.

-2

=(
v2

w24
)

(i)
w416

v4
(ii) 1

16 (iii)
v(-4)16

w2
(iv)

v(-4)

w(-4)16
(v) 16

1

27.√ =
x69

y825

(i)
x35

y43
(ii)

y43

x35
(iii)

x33

y45
(iv)

x63

y85
(v)

x123

y165

28. Find	the	square	root	of 	
e6 f124

g89

(i)
e6 f62

g43
(ii)

e3 f62

g43
(iii)

e3 f62

g83
(iv)

e3 f122

g43
(v)

e6 f122

g83



29. Find	the	square	root	of 	
x1425

y14121

(i)
x145

y1411
(ii)

x75

y711
(iii)

x285

y2811
(iv)

x75

y1411
(v)

x145

y711

30. 	=
m(-9)

r (-5)2

(i)
m5

r92
(ii)

r52

m9 (iii)
r (-5)

m(-9)2
(iv)

r (-5)2

m(-9) (v)
r5

m92

31. Which	of	the	following	statements	are	true?

a) 	=	 x
xm

xn
m
n

b)
n
	=	( xm) x(m+n)

c) a 0 	=	 1 	 (a≠0)

d) 	=	am. a n amn

e) 	=	a. xm am. xm

f)
n
	=	

m( xm) ( x n)
(i) {a,f,c} (ii) {d,e,c} (iii) {c,f} (iv) {a,c} (v) {b,f}

32. Simplify 	

5( u(k+l)) 5( u(l+m)) 5( u(m+k))
( u k. u l. um)

(i) u(10k+10l+10m) (ii) u(4k+4l+4m) (iii) u k. u l. um (iv) u(5k+5l+5m) (v) u(9k+9l+9m)

33. Simplify 	(
7 j. 64(j−1). 81(j−5)

49(j−1). 8(j−5). 9(j−2)
)

(i) 7(j+1). 8(−j+9). 9(−j−1) (ii) 7(−j+2). 8(−j+9). 9(−j−1) (iii) 7(−j+2). 8(j+3). 9(j−8)

(iv) 7 1. 8 4. 9(−3)

34. Find	the	square	root	of 	 a(4s+4). b 4s. c(4s−4)

(i) a(2s−2). b 2s. c(2s+2) (ii) a(s+1)4 . b s4 . c(s−1)4 (iii) a(s+2). b 4s. c(s−2)

(iv) a(2s+2). b 2s. c(2s−2)



35.
0
=( 4	+	 4d e )

(i) 4	+	 4d e (ii) 1 (iii) 3 (iv) (-1) (v) 0

36. ✕ ✕ =( ghi5
8 ) ( h9 i43 ) (	−	 i67

9 )
(i) g h10 i515

8 (ii) − gh10 i1135
24 (iii) i11g h7245

648 (iv) − gh16 i935
24 (v) h15 i1449

27



 1)	(v)  2)	(ii)  3)	(v)  4)	(iv)  5)	(v)  6)	(ii)

 7)	(ii)  8)	(i)  9)	(v)  10)	(iv)  11)	(ii)  12)	(i)

 13)	(iv)  14)	(v)  15)	(iii)  16)	(iv)  17)	(iv)  18)	(ii)

 19)	(ii)  20)	(iii)  21)	(iv)  22)	(ii)  23)	(v)  24)	(iv)

 25)	(iii)  26)	(i)  27)	(iii)  28)	(ii)  29)	(ii)  30)	(v)

 31)	(iii)  32)	(v)  33)	(iii)  34)	(iv)  35)	(ii)  36)	(ii)
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